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m Proposed building areas
Habitat type boundary
- Oak woodland canopy
- Canopy area and 50' setback
- Oak woodland impacts - 1.12 ac.

Figure 3. Buffered Oak Woodland Canopy DRAFT

This exhibit shows a parcel with proposed building areas and the associated impacts to oak woodland canopy with a 50-foot buffer applied to the canopy area. This method
includes some of the surrrounding open space within the oak woodland habitat but impacts are less than if the entire habitat was used to determine the area impacted.
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Figure 4. Oak Woodland Habitat DRAFT

This exhibit shows a parcel with proposed building areas and the associated impacts to oak woodland habitat. This method calculates impacts based on the entire
building footprint within the area mapped as oak woodland habitat, including all open spaces, and other associated vegetation.



Summary of Impact Calculation Methods For Oak Woodland Mitigation

Method Acres impacted
Figure 1. Oak Canopy 0.15
Figure 2. Oak Woodland Canopy 0.23
Figure 3. Buffered Oak Woodland Canopy* 1.12
Figure 4. Oak Woodland Habitat 1.89

* 50-foot buffer used as an example - distance could be more or less
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